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	3225
	8786
	7397

	2378
	5672
	6546


Clearly the center pixel does not correspond to the center of the star!

Where is it?

· Perform a weighted average for these nine points. This is the SAME IDEA as for the center of mass calculation: 

· RCM= MiRi / Mi, with: XC=NiXi / Ni and YC= NiYi / Ni    Here Ni is the value of the nth pixel.

· To calculate you may use a calculator, or write a program in VPython that reads x,y coordinates of the max flux and the 9 values Ni.

· (This is not the traditional centroid method. Usually there is software that fits a Gaussian shape function to the above N(x,y) and uses a minimum square routine to find the center. This method is actually a center-of-mass calculation that yields results of increasing accuracy with increasing number of pixels – as long as there is no other star on a nearby pixel.).

· You may choose to do the above calculation by a calculator. In the equations above N is the number of photons in that pixel and i is the pixel number for the max.

